
Instruction Sheet

Part 1108327� 2011 Nordson Corporation

P/N 1108327

Encore� LT Main Control Board Replacement

See Figure 1 for the main control board jumper setting and connections;
Figure 2 for board installation.

Jumper Setting: Set JP1 for the correct type of controller, Automatic or
Manual, before installing the board on the keypad.

1. Remove the bezel and keypad from the enclosure, then disconnect the
harnesses from the main control board.

NOTE:  To remove the solenoid valve wires from the J4 connector, insert a
tool in the small hole in the top front of each orange tab and pull the tab up.

2. Remove the main control board from the keypad with a 3-mm hex key.

J8

J7 (VBF) 2
1

1
2

3

J5

1
2

3

J6

J1

3
2

1
5

4

J10

4
5

1
2

3
1

2
3

4
5

6

J4

653

4

1 2
J2 (GUN)

4
3

2
1

J3

AU
TO

M
AN

JP1

T
O

 S
O

LE
N

O
ID

 V
A

LV
E

S
T

O
 R

E
G

U
LA

T
O

R
S

653

4

1 2
J2 (GUN)

TRIGGER

(RED) AIR WASH
(BLACK) AIR WASH

(RED) PURGE
(BLACK) PURGE

(RED) FLUIDIZING
(BLACK) FLUIDIZING

(RED) FLOW
(BLACK) FLOW
(WHITE) FLOW

(RED) ATOMIZING
(BLACK) ATOMIZING
(WHITE) ATOMIZING

(POWER)

(BLACK) DC COM

(RED) +24VDC

TO 2ND MAIN CONTROL BOARD (IF USED)

TO 24VDC POWER SUPPLY

(BLACK) DC COM

(RED) +24VDC

(O
R

A
N

G
E

) 
P

U
R

G
E

(B
LA

C
K

) 
C

O
M

(R
E

D
) 

O
U

T
P

U
T

(W
H

IT
E

) 
T

R
IG

G
E

R
(Y

E
LL

O
W

) 
uA

TRIGGER A
CONVEYOR INTERLOCK

LOCKOUT

COMMON

CUSTOMER CABLE
OR INTERNAL HARNESS

TO KEYPAD

(B
LA

C
K

) 
C

O
M

(R
E

D
) 

O
U

T
P

U
T

(W
H

IT
E

) 
uA

(G
R

E
E

N
) 

C
H

A
S

S
IS

TO AUTO GUN RECEPTACLE

TO MANUAL GUN RECEPTACLE

J4

1

6

Figure 1 Main Control Board JP1 Jumper Setting and Electrical Connections



Encore LT Main Control Board Replacement2

Part 1108327 � 2011 Nordson Corporation

3. Install the new main control board on the keypad, then connect the
harnesses and cables to the board. Connect the solenoid wires to the
J4 connector as follows:

a. Insert a tool in the small hole in the top front of each orange tab on
the connector and pull the tab up.

b. Insert the unstripped solenoid valve wires into the holes in the side of
the tabs as shown in Figure 1.

c. Press the tabs down. The tabs pierce the wire insulation and clamp
the wires in place.

4. Install the keypad and bezel back onto the enclosure.

MAIN CONTROL BOARD

KEYPAD

M5 X 12 SCREWS
M5 LOCKWASHERS

BEZEL

M4 X 6 SCREWS
M4 LOCKWASHERS

M5 X 12 
FLAT HEAD

SCREWS

Figure 2 Main Control Board Installation

Issued 6/11

Original copyright date 2011.  Encore, Nordson, and the Nordson logo are registered trademarks of Nordson Corporation.


